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metre and it costs Tk. 7.50 per metre

for fencing. [C.B.- 16]

a) Draw a proportional figure based on
the given information and find out
the radius of the garden.

b) Find the area of the garden and the
road.

c) What will be the cost for carpeting
the road? What will be the cost of
fencing around a square field whose
area is equal to the area of the road?

Circumference of a circle is 440

metre. In the area excluding the

inscribed square in it trees will be
plant.

a) Draw a figure with a short
description  according to the
information above.

b) Find the amount of taka if Tk. 40 per
meter when erect by rope two times
of square in it.

c) How much money will be spent in
planting trees at the rate of Tk. 100
per square metre?

The circumference of a circle is equal

to the perimeter. of an. equilateral

triangle. Circumference of the circle is

440 metre.

a) Determine the surface area of
cyhinder ywhose, radius¥3 cm and
length, 10'.cm.

b) Determine whole surface area and
volume of a cube whose side is
equal to the side of a square
inscribed in the circle.

c) Prove that, the ratios of the areas of

circle triangle is 3v/3: .




